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272 245 59 60 468 290 225
161 118 32 35 472 146 19.2
129 142 25 30 475 101 135
252 249 55 45 515 224 226
204 174 46 40 460 172 17.3
168 202 32 35 465 85 220
242 254 54 45 520 172 23.8
169 168 32 40 459 152 174
224 224 42 50 501 158 20.3
202 186 45 45 783 168 16.7
259 212 56 50 515 285 245
165 145 32 30 476 103 12.3
180 174 31 35 492 106 17.2
131 82 38 30 452 162 9.8
215 177 34 40 452 192 18.6
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272 0 245 9 59 0 60 0 468 0 290 10 225 9
161 2 118 2 32 2 35 2 472 1 146 3 192 6
129 0 142 3 25 0 30 0 475 1 101 1 135 3
252 9 249 10 55 9 45 5 515 2 224 7 226 9
204 5 174 5 46 6 40 3 460 0 172 4 173 5
168 3 202 7 32 2 35 2 465 0 85 0 220 8
242 8 254 10 54 9 45 5 520 2 172 4 238 10
169 3 168 5 32 2 40 3 459 0 152 3 174 5
224 7 224 8 42 5 50 7 501 1 158 4 203 7
202 5 186 6 45 6 45 5 783 10 168 4 16.7 5
259 9 212 8 56 9 50 7 515 2 285 10 245 10
165 3 145 4 32 2 30 0 476 1 103 1 123 2
180 4 174 5 31 2 35 2 492 1 106 1 172 5
131 0 82 0 38 4 30 0 452 0 162 4 9.8 0
215 6 177 6 34 3 40 3 452 0 192 5 18.6 6
129 82 25 30 452 85 9.8
272 254 59 60 783 290 24.5
15 >
y = 0.7855x + 2.0979 y = 0.9005x + 0.309
R? = 0.7549 R? = 0.7805
12 12
10 . 10 <
8 * /" 8 o 0t
6 6 Y 3 /
/’

4 4

2 2 3 2 L 4 ¢

0 : : . : 0 : ' '

2 4 8 10 12 2 4 8 10 12




y =0.822x - 04221

y =0.1422x + 0.7722

R = 0.8219 R?=0.0335
12 12
10 t 10 Y
8 8
6 | /f( 6
4 4
2 2 \ & 4
0 i 0 P L
5 10 1P 10 12
y = 0.7642x + 03379 y =0.747x+ 2.3239
N o e R? = 0,651
1 12
10 v 10 30
. . /./‘
. / ) /
N
2 s — 2
0 /|'A * 1 1
0 .
10 12 10 12
y= 0.27994x - 0,049 y = 0.7919x - 1.1159
R? = 05028 R? = 06236
12 12
10 ) 4 10 4
%
° / i
6 - 6 —
4 / * ) . / hod
2 2 3 [ 2
0 - 0 474 .
> 10 1P q 10 1p




y = 0.5123x + 1.0137

y = 0.8632x + 0.8353

R? = 02415 R'=0715
19 12
10 - 10 /
]
8 8
A /0
6 6
4 4
2 2
0 <> 1 0 L
10 12 10 12
y= 0.72336x +01321 y = 0.7846x + 0.3743
R?=0.6802 R%=0.7201
12 12
10 o 10 o ¢
8 8 _
6 / 5 /
o e .
4 Y / L 4
2 2
0 : 0 '
10 12 10 12
y = 05779x + 32303 y = 0.8455x + 1.0297
R = 04074 R? = 0.6616
12 12
10 ¢ 10 .4
) / 8 /
* /
6 V 6 I
4 = 4
2 2
0 ' 0 '
10 12 10 12

12

10

y = 0.744x + 3282
R®= 05342

_~

10 12




Rz 0.949
=28.54+0.55x +0.2x
+0.36x
272 245 60 290
161 118 35 146
129 142 30 101
252 249 45 224
204 174 40 172
168 202 35 85
242 254 45 172
169 168 40 152
224 224 50 158
202 186 45 168
259 212 50 285
165 145 30 103
180 174 35 106
131 82 30 162
215 177 40 192
R 0.97434289
R2 0.94934407
R2 0.93552881
11.5240307
15
F
3 27377.5639 9125.85463 68.71709 2.07E-07
11 1460.83611 132.803283
14 288384
t P- 95% 95% 95.0h___ 95.0%
285409165 16.1378989 176856459 0.104651 -6.97838 64.06021 -6.97838 64.06021
055209428 011221818 4.91982931 0.000457 0.305104 0.799085 0.305104 0.799085
0.20194949 096046139  0.210263 0.837306 -1.91201 2.315912 -1.91201 2.315912
0.35863816 0.09526135 3.76478153 0.003129 0.148969 0.568307 0.148969 0.568307
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R 0.902014

R2 0.81363
R2 0.661145
220.7629
21
F
9 2340430 260047.8 5.335819 0.005791
11 536098.8 48736.26
20 2876529
t P- 95% 95% 95.0% 95.0%
-2974.97 627.8087 -4.73866 0.000611 -4356.77 -1593.17 -4356.77 -1593.17
117.7526 189.1972 0.62238 0.546377 -298.668 534.173 -298.668 534.173
96.52729 187.0462 0.516061 0.616026 -315.159 508.2134 -315.159 508.2134
217.2504 185.8696 1.168832 0.267178 -191.846 626.3469 -191.846 626.3469
4149295 201.1858 2.062419 0.063599 -27.8777 857.7368 -27.8777 857.7368
311.1504 205.5251 1.513929 0.158235 -141.208 763.5083 -141.208 763.5083
161.4056 186.3516 0.866135 0.404912 -248.752 571.5629 -248.752 571.5629
107.0654 126.4925 0.846417 0.415355 -171.343 385.4737 -171.343 385.4737
-236.192 137.9945 -1.71161 0.114982 -539.916 67.53149 -539.916 67.53149
119.9436 21.49808 5.579268 0.000165 72.62659 167.2606 72.62659 167.2606
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159 377 209 318 136 150 123 36 86

145 327 136 245 104 154 127 27 41

145 327 136 182 86 136 136 77 59

136 359 186 177 77 186 82 109 18

123 350 154 163 73 141 114 68 32

114 295 200 54 27 114 91 154 36

109 291 109 232 95 150 95 14 23

109 286 68 159 64 109 77 3?2 18

104 245 45 104 50 77 82 59 18

100 263 123 32 23 64 118 132 54

86 327 241 18 5 54 59 227 95
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1
0.758246 1
-0.12232 0.544737 1
0.882299 0.718827 -0.02011 1
0.880045 0.680616 -0.08224 0.996703 1
0.956728 0.707582 -0.12072 0.810804 0.811216 1
0.436918 -0.07663 -0.71347 0.576694 0.627465 0.317592 1
-0.82934 -0.38547 0.483261 -0.87825 -0.90507 -0.73874 -0.85827 1
-0.51205 -0.01184 0.630871 -0.1421 -0.17559 -0.61938 -0.23241 0.395456 1
3
= 0.85+0.001x +-0.0008x +0.047x% +0.006x%
R 0.975782
R2 0.952151
R2 0.760754
0.252585
6
F
4 1.269534 0.317384 4.974746 0.322884
1 0.063799 0.063799
5 1.333333
t P- 95% 95% 95.0% 95.0%
-0.85089 1.760939 -0.4832 0.713446 -23.2256 2152387 -23.2256 21.52387
0.001564 0.005944 0.263168 0.836177 -0.07397 0.077095 -0.07397 0.077095
-0.0008 0.016906 -0.04706 0.970063 -0.21561 0.214014 -0.21561 0.214014
0.0047 0.039333 0.119492 0.924288 -0.49507 0.50447 -0.49507 0.50447
0.006362 0.004066 1.564662 0.362037 -0.04531 0.05803 -0.04531 0.05803
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